
Selection Signal Regions
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prompt electrons
N = 1 = 0 = 1 = 0
pT > (30, 35, 35) > 10 > (30, 35, 35) > 10
|η| < 2.1 < 2.5 < 2.1 < 2.5
irel < 0.15 < 0.25 < 0.15 < 0.25

prompt muons
N = 0 = 1 = 0 = 1
pT > 10 > (26, 29, 26) > 10 > (26, 29, 26)
|η| < 2.4 < 2.4 < 2.4 < 2.4
irel < 0.25 < 0.15 < 0.25 < 0.15

τh objects
N = 1 = 2
pT > 20 > 20
|η| < 2.3 < 2.3
|Q?τh | = [0, 2] = 0

jets
N ≥ 3 ≥ 2
pT > 30 > 30
|η| < 2.4 < 4.7

b jets
N ≥ 1 ≥ 1
pT > 30 > 30
|η| < 2.4 < 2.4

event-based variables
pmiss

T > 40 > 30
ST — > 400


